10, 465

1,820 1,280

1,366

455 3,640 455 1,820

| g x
CH : N j
2 ZHYY CH: 2,350 = 3
BT i o
[T, FEER | 770&: oo [EEE | >
5 Fa-FAVh—FY c2.400] [0 =
‘ | s ¥
g & — BT | wam 2) EBE | g g
o = || CH - 21400 | CH - 2,400 }/’i [ ] i = o
IR — 2
S r——1 S
=2 L] =
RHARRBHTF
S IEE (3) - . . g o
g = A~ ] - B EDZD) “‘I~“,t—100 WY E g e
i 15 : “’ ‘( ‘1 i’
MV Y= b =100 B Y i
— | |
| 1,200
1,050 250 | 3,680 1,780 | 1,365
10, 465
KN 1/100 |
(#¥52%18] N & = = % =
BREERAFEHM THIO%E ERRAANE BMNAERKTE 7 & MT/100-A31/140 | A — 05
- B ET N 117422 fOREE




